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int main(void){ int main(void){

h=le-4;
i=0; i=0;
while (i<max){ while (i<max){
f = func(x); = f = func(x);
df = func_d(x); df = (func(x+h)-func(x))/h;
x_n= x- f/df; x_n= x- f/df;
} }
return O; return O;
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#include<stdio.h>
#include<math.h>

double func(double x){
return cos(x)-x*x;

double Newton(double init, double eps, int imax){

int i;

double x_old=init, f, df, x_new,h=1e-04;

for(i=0;i<imax;i++){
x_new=x_old-func(x_old)/((func(x_old+h)-func(x_old))/h);
printf ("x(%03d)=%+.6f\n",i+1,x_new);
if (fabs(x_new-x_old)<eps) return x_new;
x_old = x_new;

return 0.0/0.0;/*Nan*/
}

int main(void){

double error, x, X_n;

int i, max;

printf("initial value:");

scanf ("%41f",&x);

x = Newton(x,1e-6,20);

if (!isnan(x))/*Determining whether a value is NaN or not*/
printf ("answer =%+.6f\n",x);

else
printf ("not converged\n");

return O;
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double func(double x){
return cos(x) - x*Xx;

}
double Newton(double x0, double e, int max){

i=0;
while(i<max){
f = func(x);
df = (func(x+h)-func(x))/h;

}
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double func2(double x){
return x - cos(x);

}

double Newton(double x0, double e, int max){

i=0;
while (i<max){
f = func2(x);
df = (func2(x+h)-func2(x))/h;
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% ©  Newton (func2,1.0,1e-6,100);
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#include <stdio.h>

double add(double x, double y){
return x+y;

}
double sub(double x, double y){
return x-y;

}

int main(void){
double (*func_p) (double,double); /*func_p % 2 DD double BUD5|#%E & B/

/*EBANDRA VT ELTER.  */

func_p = add; /* func_p ICEI¥ add NDRA V& ERA*/
printf ("%f\n",func_p(3.0,2.0));
func_p = sub; /* func_p ICBIE sub NDRA V& EZRA*/
printf ("%f\n",func_p(3.0,2.0));
return 0;

}
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